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Paper 1H (Calculator)

[image: image8.emf]Higher Tier

Practice Paper A
Time: 1 hour 15 minutes

You must have: 


Ruler graduated in centimetres and millimetres, protractor, compasses,

pen, HB pencil, eraser. Tracing paper may be used.
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· Use black ink or ball-point pen. 

· Answer all questions.

· Answer the questions in the spaces provided 


– there may be more space than you need. 

· Calculators may be used.
· If your calculator does not have a (  button, take the value of (  to be 3.142 unless the question instructs otherwise.
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· The total mark for this paper is 60.

· The marks for each question are shown in brackets 
· use this as a guide as to how much time to spend on each question.

· Questions labelled with an asterisk (*) are ones where the quality of your written communication will be assessed 
· you should take particular care on these questions with your spelling, punctuation and grammar, as well as the clarity of expression.
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Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question.

· Check your answers if you have time at the end.

This publication may be reproduced only in accordance with

Edexcel Limited copyright policy.

©2010 Edexcel Limited.

GCSE Mathematics 2MB01
Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.
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Volume of prism = area of cross section × length     

Volume of sphere 
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Volume of cone πr2h

Surface area of sphere = 4πr2 


Curved surface area of cone = πrl
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In any triangle ABC 




The Quadratic Equation
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The solutions of ax2+ bx + c = 0








where a ≠ 0, are given by








x = 
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Sine Rule  
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Cosine Rule   a2 = b2+ c2– 2bc cos A

Area of triangle = 
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Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
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Nathan sells pencils in boxes of 10 and boxes of 12.


Roy bought x boxes of 12 pencils.

(a)
Write down an expression, in terms of x, for the number of pencils Roy bought.

……………….. pencils

(1)

Jill bought p boxes of 10 pencils and r boxes of 12 pencils.
(b)
Write down an expression, in terms of p and r, for the total number of pencils that Jill bought.

………………….. pencils

(2)

(Total for question 1 is 3 marks)


2.
Bob carried out a survey of 100 people who buy tea.

He asked them about the tea they buy most.

The two-way table gives some information about his results.
	
	Tea bags
	Packet tea
	Instant tea
	Total

	50g
	2
	0
	5
	

	100g
	35
	20
	
	60

	200g
	15
	
	
	

	Total
	
	25
	
	100


(a)
Complete the two-way table.

( 3)

One of the people was chosen at random.

(a) Work out the probability that the person chosen bought 100 g of packet tea the most.

Give your answer as a fraction in its simplest form.

……………..

(2)

(Total for Question 2 is 5 marks)


3.
Noreen carries out a survey of some students.

The pie chart shows some information about their favourite holiday.






     walking








skiing




cycling






     30º





          60º






sunbathing

5 students said that walking is their favourite holiday.

(a)
(i)
How many said that cycling is their favourite holiday?

…………….


(ii)
How many students took part in the survey?

…………….

(3)

Noreen chooses one of the students at random.

(b) Write down the probability that this student’s favourite holiday is cycling.

……………..

(2)

(Total for question 3 is 5 marks)


4.
Dave and his class had exams in maths and science.

He drew a scatter graph to show their results.
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Two students sat both exams at a later date
	Science
	32
	42

	Maths
	30
	44


Here are their results.

(a)
Complete Dave’s scatter graph for these two results. 

(2)

(b)
What type of correlation does this scatter graph show?

…………………………….

(1)
Sophie missed her Maths exam but got a result of 25 in Science.

(c)
Use your scatter graph to estimate Sophie’s result in Maths.


…………… marks
(2)
(Total for Question 4 is 5 marks)

5.
Bonni runs Mr Fixit’s exhaust repair shop.


She recorded the times, in minutes, it took to repair cars on one day.


25
30
35
18
12
42
22
15

22
26
32
18
34
45
21
33

17
18
35
49
31
32
19
24

Show this information in an ordered stem and leaf diagram.

(Total for Question 5 is 3 marks)


*6.
Here is part of Simone’s gas bill.



Work out how much Simone has to pay for the units of gas she used.

£ ……………….

(Total for Question 6 is 4 marks)

7.
Here is a list of ingredients for making 8 cheese scones.


Work out the amount of each ingredient needed to make 12 cheese scones.

self-raising flour …………….. g

butter …………….. g

cheese …………….. g

milk …………… ml
(Total for Question 7 is 3 marks)


8.
Sonia measures the length of her pencil case as 15cm to the nearest cm. 
(a) Write down the greatest length this could be.

………….………….cm 

(1)

(b)
Write down the least length this could be.

……………………..
(1)
(Total for Question 8 is 2 marks)



9.
Sophie invested £400 at 3% compound interest for 2 years.

(a)
How much money did Sophie have at the end of 2 years?

£ ………………

(3)


Rich also invested £400 at 3% compound interest.


(b)
How many years does he need to invest the money to get at least £475?

………… years

(3)

(Total for question 9 is 6 marks)

 

10.
This frequency table gives information about the ages of the 50 teachers 


that work at Josie’s school.

	Age (A) in years
	 frequency

	20 < A ≤ 30
	10

	30 < A ≤ 40
	12

	40 < A ≤ 50
	20

	50 < A ≤ 60
	5

	60 < A ≤ 70
	3


(a)
Complete the cumulative frequency table.

	Age (A) in years
	Cumulative frequency

	20 < A ≤ 30
	

	20 < A ≤ 40
	

	20 < A ≤ 50
	

	20 < A ≤ 60
	

	20 < A ≤ 70
	


(1)

(b) On the grid opposite, draw a cumulative frequency graph for this information.





(2)

(c) Use your cumulative frequency graph to find an estimate for 

the median age of the teachers,

………………

(2)

(d) Use your cumulative frequency curve to find an estimate for 

the number of teachers who are less than 45 years old.

…………………

 (2)
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(Total for question 10 is 7 marks)


11.
Here is a picture of a man standing near a large refuse lorry




(a)
Estimate the height of the man.

……………… m

(1)


(b)
Estimate the length of the refuse lorry.

…………………………..

(2)

(Total for Question 11 is 3 marks)


12.
A straight line has equation y = mx + c.
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Write the equation of the line.
........................................
(Total for Question 12 is 2 marks)

13.
Jack grows beans.

The table shows some information about the lengths of the beans 

he picked one day last year.

	Length (l cm)
	Frequency

	0 < l ≤ 10
	10

	10 < l ≤ 15
	15

	15 < l ≤ 20
	20

	20 < l ≤ 30
	25

	30 < l ≤ 50
	8



Use the information in the table to draw a histogram.


Frequency

density



 0
       10

  20
         30               40
           50
       60








Length (l cm)
(Total for question 13 is 3 marks)

14.
The table below gives some information about some students in a school.

	Year Group
	Boys
	Girls
	Total

	Year 10
	180
	120
	300

	Year 11
	125
	160
	285

	Total
	305
	280
	585



Andrew is going to carry out a survey of the students.


He uses a sample of 50 students, stratified by year group and gender.


Work out the number of boys and the number of girls from each year group that should be in his sample.

 








Sample

	Year Group
	Boys
	Girls
	Total

	Year 10
	
	
	

	Year 11
	
	
	

	Total
	
	
	50


(Total for Question 14 is 4 marks)


15.
One of these statements represents an identity.

	Letter
	statement
	Letter
	statement

	A
	y = mx + c
	D
	2(x + y) = 2x + 2y

	B
	2x + 3 = 7
	E
	5(x + y) = 10

	C
	5p + 2q
	F
	Ax² + Bx + C



Which one?

…………………..

(Total for Question 15 is 1 mark)

*16.
Max and Lili have 9 bottles of juice in their fridge.

They have

4 bottles of orange juice


3 bottles of cranberry juice


2 bottles of mango juice

They each take a bottle, at random, from the fridge.

What is the probability that they each take a bottle of the same type of juice?

……………

(Total for Question 16 is 4 marks)


TOTAL FOR PAPER = 60 MARKS
Mr Fixit’s





We fix any exhaust








Gas Bill





New reading	43 214	units


Old reading	43 093	units











Price per unit	45p





Ingredients for 8 cheese scones





200 g self-raising flour





60 g butter





30 g cheese





150 ml milk








PAGE  
14
Practice Paper A Unit 1H


_1344166236.unknown

_1344166237.unknown

_1344166234.unknown

_1344166235.unknown

_1344166233.unknown

